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2015 2 Given that N = 100 + 80e*t, which expression is equal to chi_lt\'l? 1
(A) k(100 - N) (B) k(180 - N) (C) k(N - 100) (D) k(N - 180)
As N = 100 + 80eX, then N - 100 = 80eX,
Now, anN- _ k.80ekt
dt
State Mean:
= k(N - 100) 0.93

* These solutions have been provided by projectmaths and are not supplied or endorsed by BOSTES.

HSC examination papers © Board of Studies NSW for and on behalf of the Crown in right of State of New South Wales


http://www.projectmaths.com.au/mathsfit
http://www.projectmaths.com.au/

